2VBSLPOJVN &OFSHZ
[I[-0 JO 1FSUVSCBUJ

VJDIJSP ,JZP +VOUFOEP 6
2VBSLPOJVN [ PW

SPMMBCPSBUJPO XJUI : 4
BS9JW <IFQ Q




W/-O -~~~ 1JOFEB :OEVSBJO

)PBOH :, 4VNJOP

W//- O GPS 4 XB W+ 1roio anisopw auFioIB

#FOFLF :, 4DIVMMFS #FOFLF :, 1

W/-0 *3 SFOPSNBMPO GSI

#SBNCJMMB 4VNJOP 7BJSP

Way///-0 UIJT UBML




SPOUFOUIT

WOHIFPSZ "SBNFAPGHOUJBM /3

W2. QOFSUVSCBUJPO

woMUSBTPGU HMVPO

WH#PUUPNPOJVN 1IFOPNFOP

WA4VNNBSZ




1PUFOUJBM .,

Q/32%% JT &'5 PG IFBWZ RVBSL CPVOETUBUF

L =S il,! Hg S+ 0% iD,! Ho 0P+ gS t4E20?

p2 " #SBNCJMMB 1JOFEB 4PUP 7B

2. )BNIMUPHJBC ! CFr Y+ Ve (P, 1)

S5IF QPMF PG UXP QPJOU GVODUJPO HIWEFT C

- - ] 1 "
# igZT—F/! dtet 10] (r éEa(t)) U (t, 0) (r éEb(O)) L o
Nc Jo E# Hs E# Hs
US gluon
ST, 1JOFEB 4PUP 28 %

,OJFIM 1FOJO
,OJFIM 1FOJO 4NJSOPW 4UFJ

& 2
singlet singlet ‘\octet/ singlet #FOFLF :, 1FOJO

gr-E“

20143411 D120+50



2. )BNJMUPO

4JOHMFU )BNIJMYMP OJIBO
(@) = P> Ce"s (A)?T(3! #

S T 1 _

m r 5!

+ Ve

WSPVMPNC QBSU ayUIF -0 CJOEJOH F$ZFDU
UIF E EIJINFOTJPOBM GPSN GPS 67 EJWFSH

wPO $PVMPNC QPUFOUJBMT a TVCMFBEJOH //

/PO $PVMPNC QPWs DQ] B

p* IDPMPS GBDUPST PNJUUFE
vO — 2
P 4m3’ | y
2 2 /2 1
v _ % O _ 9% o _ % P
1/r 2 mrz r 3 m2r3 pr m2
2 # ¢
(1) Qs &2 (0) s 748 (0) Crs Sad\2 ) &2°
A 3.3 S° 3.3 LaS V7 = p e 3(rasS)<! S

20143411 D120+50



US gluon
oSFVVOG:

2. 1FSUVSC

QPJOU GVODUJPO 2VBOUVN .FDIBO

1
(Ho+ Vi + Vb + V3 + dap" E

' : 3
| singlet : singlet ‘\octet/ singlet

gr-E®

|O#: Go+ 111G+ 1,G+ 113G+ 4é

10|

.G = 1" GogVaGo#+ 2"GoVoGoV1Go#+ "GpV1GoV1GoV1Gpt

A

$SPVMPNC (SFFOGVODUJPO
IPMF'®GE | . |
CPVOETUBUF FOFB@®Z:E) = (Hp———IF)

r

i)

3|

v

E® = In|Vs|n"# 2'n|Vi Gn Vo
+ In|ViGna ViGhVa|n"# EWM In|Vi! Ga V4

"O VOGBNJMJBS UFSN
GSPN UIF USJQMF JOTFSUJPO

nll

20143411 D120+50



US gluon

) e = e ____;_‘.:\\
|
GLOOU l"v,,”" “
| ;:;:‘. ';-:' [
&
singlet | singlet ‘\octet/ singlet |
g-E° )

5|lF MPPQ TFMG FOFSHZ Wd332A)YVT HM

67 EJWFSHFOBFYYyYyYyEJNFOTJPOBM SFHVMBSJ[BUJPO

O

EYS = | ig?g? dt"r aEa(t)e Mo —Enc )ty 4E2(0)#
0
_ 2Cg! sp” S, @) @) yap

2. DPNNVUBUJPO SFMBUJPO VTFE JO E

L

2Cp! s Ho# E,.c
i r'(Ho# Ene)’ln —2==nC
3 H nt

WFOPSNBMG[BEEHSFFT XJUI '"FZONBO EJBHSB

,OJFIM 1FOJO 4NJSOPW 4UFJOIBVTFS

wlF #FUIF MPHBSJUIN FWBMVBUFE OVNFSJ

4 XBWF CZ ,OJFIM 1FOJO

= IH us"nﬁ #

20143411 D120+50



1JFDFT GPS |/

#VJMEJOH CMPDLT UPPMT BOE LOPX

W/'/-0 2. )BNJMUPOJBO

,OJFIM 1FOJO 4NJSOPW 4UFJOIBVTEFS

WEPVMPNC QPUFOUJBa BU MPP(

4NJSOPW 4NJSOPW 4UFJOIBVTFS "O[BJ :,

WBFOPSNBMJ[BUJPO QSFTDSJQUJ

,OJFIM 1FOJO 4NJSOPW 4UFJOIBVTEFS
#FOFLF :, 4DIVMMEFS

W - VMUJQMF OFTUFEsIMdNsbe o8oBsrr

"O[BJ 4VNJOP

WLPMF u .4CBS NBTT MPPQ SFI

4 & 4 FTUJIJNBUF TFF 4VNJOJP

20143411 D120+50
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(n,l) (33(-n,l,s,j)

(1,0) | —0.447879 n; + 27.3508 n; — 418.003n; + 597.111 log as + 1928.76(1) + S° (—61.4109log o= — 11.5278 n; + 218.589)
(2,0) | —=0.470041 nj + 29.0777 nf — 427.286 n; + 329.535 log as + 1555.66(1) + S? (—30.7054 log as — 10.7155 n; + 189.250)
(2,1) | —0.413823 ni + 25.3451 71.12 —414.351 ny + 108.748 log s + 1968.47(1) + s? (0.162463 n; — 0.121847)

+ Ds (—2.19325 log as — 0.560973 n; + 13.1915) + X s (—4.38649 log as — 1.43923 n; + 41.1222)

(3,0) | —0.454201 n} + 28.6079 n — 418.477 n; + 236.444 log as + 1419.35(1) + S? (—20.4703 log ars — 9.14505 n; + 158.960)
(3,1) | —0.454469 ni + 27.7382 nf — 446.928 n; + 89.2529 log ars + 2035.04(1) + S? (0.108308 n; — 0.0812313)

+ Ds (—1.46216 log as — 0.608358 n; + 12.5233) + X5 (—2.92433 log ars — 1.66261 n; + 38.7400)

(3,2) | —0.400872 nj + 24.6125 nj — 402.879 n; + 69.7574 log ars + 1921.30(1) + S? (0.0216617 n; — 0.0162463)

+ Ds (—0.292433 log s — 0.0564700 n; + 1.81875) + X 1s (—0.584865 log avs — 0.136917 n; + 5.30033)

(4,1) | —0.468374 nj + 28.6896 nj — 459.027 n; + 78.7741 log as + 2037.85(1) + S* (0.0812313 n; — 0.0609235)

+ Ds (—1.09662 log as — 0.583921 n; + 11.4578) + X s (—2.19325 log as — 1.62992 n; + 35.2919)
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